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N.B.: (1) Question number 1 is compulsory.
(2) Attempt any three questions from remaining questions
(3) Figures to the right indicate full marks. S
(4) Assume suitable data wherever necessary and mdlcat 16
Q.l Write a short note on following:
(a) Strip lines
(b) Image Frequency in Mixers
(c) Dielectric Resonator Oscillator
(d) Microstrip lines.
Q2 (a) Howis Vector Network Analyzer used
with all harmonics.
(b) Design a transistor oscillator at 4 Gl:fz: ;z;ng 2As M SFET it o'cominon gatg {10}
configuration, with a 5 nH inductor in series. ﬁltﬁ ;ﬁé\iagé‘ﬁaﬁ', c(éagegt\ﬁg\mﬁl Qe

032 © ;: AL

Choose a terminating networkmma\tchio\a 5 09 bﬁdv,@"{ an appre rigle ning” -
network .The scattering pa'am@ers ét}.ﬁag t.ragsist“ £ in- @ o amon u{@? -4

configuration are (Zo= 50 m i «-;2&&4“\3\5"1 xS;;S:_ %
».'\ \-—r &

"" ‘;)‘ bl
and Sz’ = 0.522-155°. & 3 = ,x?_{;’.i\’f»‘?.;‘f“

Lo '._"\» \(: ! AL n./\\ P,

Q3 (a) Draw the block dlag}@%- ind & Clab passive; ﬁ? (10]
load/source pull. ;;1 VDD Q* oA _-“*‘f-"’ _’

(b) Write a short note: ot Eleld?Suﬁeys [10]

Q4 (a) Explain Hybnd‘ﬁ dMoﬁqllthm MIC bg\co,mpﬁrmgih{; two\MICs,thc following [10]
nd qu}x_ _Degxgn ﬂex:bly 5 Cirouit twe@uaggnd Reliability.
] <102 FET at HZ‘wﬁh afoias voltage V=0 [10]

mﬁvh.._ L

g \ o
“‘iiﬁm’tqtyava”a\gam o“f { dBat 4 0 GHz. Plot constant-gain circle [20]

\. “\
1?2@16 1 dB\&D%\Qp\-{‘B ahﬁ\d&—\ Calculate and plot the input return loss

11ﬁei'- ‘ﬁ:am‘ TQ\S GHz. The transistor has the following
Z' alQ

Sa1 S
2.82100° 0.66£ =50°

0 2.5.80° 0.60 £=70°
0 2.3460° 0.582-85°
matching network using smith chart to match aload [10]

: dampedance
aﬁ@:é&aﬁs& 7, =10+j10 Qtoa 50 Q line ata frequency of 1GHz.
:&ndiex l,am in detail Single-Ended Diode Mixer. [10]
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T6632 /T4010 MODERN DIGITAL COMMUNICATION
(Time 3 Hours)

0.20

x1x2 0.15
0.15

x2x2 0.12
0.09

s

M€, SemAl ExTC

x1x3 0.09

X1x)
x3x1

(2) Solve any three from remaining five questions.
x2x1

b) Explain the concept of excess bandwidth and r
d) Explain Delta modulation Source Encoder

Q2. (a) For a pair of letters find Huffman Co

c) Explain Rician and Rayleigh Channels
efficiency

Q1. a) Explain various parameters associated with Eye Pagf‘ T

N.B.: (1) Question No. 1 is compulsory.

10

(b) Describe th

g

Ly]

Loy
Sy
&

th

r{} ,i\..,'
W
=) Q Ve

ey

bl

o
Q4

[+ %

2%

e

(P
X

Oy

C‘ﬁ\"—
d
P

e

s
Q

t]

(SN

o

A,

~

X,

25

spectru

Q3. (a) State
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trolled ISI for Partial ~Response signal
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and calculate the probability of correct recept
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